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QUESTION: 94
Which Layer 3 protocol is used within the ACI fabric?

A. OpenFlow
B. EIGRP

C. OSPF

D. IS-IS

Answer: D

QUESTION: 95
What are the two default user roles in Cisco UCS Manager RBAC? (Choose two.)

A. Operations

B. AAA Administrator
C. Root

D. Local

E. Sudo

Answer: A, B

QUESTION: 96
Which three are components of the Cisco Unified Computing System 2104 1/0 Module?
(Choose three.)

A. multiplexer
B. chassis management console



C. chassis management switch
D. finite state machine
E. chassis management controller

Answer: A, C, E

QUESTION: 97
Which of the following SAN devices provides an I0A feature?

A. Cisco MDS 9000 16-Port Storage Services Node

B. Cisco MDS 9100 Series Multilayer Fabric Switches
C. Cisco MDS 9200 Series Multiservice Switches

D. Cisco MDS 9148 Multilayer Fabric Switch

Answer: A

QUESTION: 98

An engineer is deploying a Cisco Nexus 1000v into VMWare vSphere using the OVA
fie. The engineer deployed the VSM virtual machine in vCenter and completed the
initial setup script of the VSM. Which two additional configuration steps are needed to
implement the 100GV? (Choose two)

A. Configure an SVS connection to vCenter in the console of the 1000V.
B. Add hosts to the distributed virtual switch in vCenter.

C. Add hosts to the distributed virtual switch in the console of the 1000V.
D. Add the 1000v as a virtual distributed switch in vCenter.

E. Configure an SVS connection to vCenter using the vCenter wizard.

Answer: A, B

QUESTION: 99
Which two options are two functions of the data center access layer? (Choose two.)

A. high data transfer rate
B. packet filtering



C. server connections

D. QoS policy enforcement

E. high network fault tolerance
F. VLAN creation

Answer: C, F

QUESTION: 100
In an ACf Fabric, which two statements about contexts are true? (Choose two.)

A. A VRF defines a Layer 3 address domain

B. A tenant can contain multiple VRFs

C. In traditional networking, a VRF is equivalent to a VDC
D. A tenant can contain only a single VRF.

E. A VRF defines a Layer 2 address domain.

Answer: A, B

QUESTION: 101
Which two chassis discovery policy settings allow far a UCS chassis to be connected to
a pair of Fabric Interconnect using only two physical connections' (Choose two)

A. 4-link
B. 2-link
C. 8-link
D. 1-link
E. Platform-max

Answer: B, D
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